
 

■ 次のことを利用して、①～⑭の値を求めなさい。 

√ ２ = １．４１４ √ ３ = １．７３２ √ ５ = ２．２３６ √ ６ = ２．４４９ √ ７ = ２．６４６ 

√２０ = ４．４７２ √３０ = ５．４７７ √５０ = ７．０７１ √６０ = ７．７４６ √７０ = ８．３６７ 

 

① √６０００ =  

② √７００ =  

③ √５０００ =  

④ √０．２ =  

⑤ √０．０７ =  

⑥ √５００ =  

⑦ √３０００ =  

⑧ √０．７ =  

⑨ √０．０５ =  

⑩ √０．０２ =  

⑪ √０．３ =  

⑫ √０．０３ =  

⑬ √２００ =  

⑭ √０．５ =  
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■ 次のことを利用して、①～⑭の値を求めなさい。 

√ ２ = １．４１４ √ ３ = １．７３２ √ ５ = ２．２３６ √ ６ = ２．４４９ √ ７ = ２．６４６ 

√２０ = ４．４７２ √３０ = ５．４７７ √５０ = ７．０７１ √６０ = ７．７４６ √７０ = ８．３６７ 

 

① √６０００ = ７７．４６ 

② √７００ = ２６．４６ 

③ √５０００ = ７０．７１ 

④ √０．２ = ０．４４７２ 

⑤ √０．０７ = ０．２６４６ 

⑥ √５００ = ２２．３６ 

⑦ √３０００ = ５４．７７ 

⑧ √０．７ = ０．８３６７ 

⑨ √０．０５ = ０．２２３６ 

⑩ √０．０２ = ０．１４１４ 

⑪ √０．３ = ０．５４７７ 

⑫ √０．０３ = ０．１７３２ 

⑬ √２００ = １４．１４ 

⑭ √０．５ = ０．７０７１ 

 

根号を含む式の値 
年     組 名前 

/14 


